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CLASS-III SUBJECT- MATHS

Section A
Choose the correct answer
Q1 The sum of any two even numbers is

(@) even (b) odd (c) evenorodd
Q2 The sum of 1000 and 3467 is

(@) 5467 (b) 6467 (c) 4467
Q3  The correct Roman numeral for 17 is

(@) XXVi (b) VI (c) Xvil
Q4 0x1725=

@ O (b) 1 (c) 1725
Q5 The number that is subtracted from the minuend is called

(@) product (b)  subtrahend (c) difference
Q6  The predecessor of 2859 is

(@ 2857 (b) 2860 (c) 2858
Q7  The number to be multiplied is called

(@  multiplicand (b)  multiplier (c) product
Q8 How much is 640 less than 1000?

(@ 350 (b) 340 (c) 460
Q9  The smallest 4-digit number formed using the digit 9,4,2,0 is

(a) 0246 (b) 2490 (c) 2049
Q10 5253 -0=

@ O (b) 5352 (c) 5253

Section B

Q11 Round off the following numbers to the nearest tens

(@) 643 (b) 746

Q12 Find the sum:
(@) 6432+ 1653 (b) 7457+4576
Q13 Which number must be added to 2356 to get 50007
Q14 School A has 5630 students and School B has 8300 students. How many
students are there in all?
Q15 Find the difference:
(@) 6437-1456 (b) 8423-3596
Q16 Write the 7 basic symbols of Roman Numerals?
Q17 Arrange the following in ascending order
(@) 6434; 5204; 3427; 8408;
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(b) 3428; 6309; 3421; 6803,
Multiply 32 by 6
Section C

Observe the pattern and write the next numbers
(@) 5093, 5095, 5097 : : :
(b) 6324, 6424, 6524 : : :
Fill in the blanks:

a) 729+0= b) 5493 + 3954=_ +5493

c) 175-1= d) 498 — 498 =
Name the Roman numeral which can be repeated maximum 3 times to
form a number?
Write the Hindu-Arabic numerals for the following

(@ X+VI=__ (b)) XXIX+lI=__ (c) XXVI+lv=__
Use symbol <, > or =

a) 4234 6370

b) 5829 5819

c) XXIV XXIV

d) XIX XXI

Which number is greater and how much?

a) 7979 and 7999 b) 3355 and 2992
Find the successor and predecessor of smallest 4-digit number
Write whether the sum is even or odd, without actually adding
a) 54 +86 =
b) 60 + 33 =
c) 384 +981 =
d) 587 + 482 =

Section D
Write in descending order
(@) 4278; 6400; 7480; 7485;
(b) 6721; 8340; 8359; 6798;
Subtract and check the answer
a) 6210- 2361 b) 4000-1533
From the sum of 3087 and 4327, subtract 1986.
6000 vehicles loaded in a truck. 1275 vehicles were delivered in one
company and 2859 were delivered in second company. How many vehicles
were left in the truck?
Multiply the following
a)4312x 2 = b) 286 x 4=
Add the following
a) 132+4321+19  b) 1251+53+9
3600 students took part in a competition. Out of these, 2360 were girls. How
many boys took part in the competition?






